SWING/STICK

On T-bar Pendant Suspension

Must order option SRB (e.g., ST44128.SRB)
WARNING: disconnect main power at the source prior fo installation!
Only qualified electricians should install Delray Lighting products.

Swing and Stick may be mounted directly to T-bar grid with T-bar grid
clips (by others), using a 1/4-20 stud. Both feed and nonfeed suspension
points mount to same type of 1/4-20 stud clips. (See following page for
mounting between T-bar grid.)

© Tbar studs with 1/4-20 thread (by others) must be purchased and
clipped directly to 9/16” wide T-bar. Add support wire or chain,
as required by code.

@ Accach canopy back plate to 1/4-20 stud with hex nut. Make notch
in ceiling and attach conduit from ballast box to back plate with
lock nuts.

© Pass lamp cord through canopy and conduit. Attach canopy to 1/4-20
stud with cable gripper. Stud should not extend into gripper more than
5/16”, or adjustability will be lost.

O Twist off end of gripper and insert AC cable. Pass cable through
gripper body and out side exit hole. Screw gripper into place.
Adjust length and snip off excess, leaving 1” of cable out exit hole.

© Mount ballast box to T-bar with bar hangers and attach with wire

(or after market T-bar clips). Pull knob to remove box cover,
adjust cord length, and cut and strip ends for insertion into ballast.

e

3%)4/;{4)4/;{,4)4/;1:]%;4
< b{vd > 4 D 4 >

~ ~
2Ry 2Ry 2 R4y 2R

Cut hole in tile

for conduit
Canopy back

plate

Locknuts

Hex nut

o

2)4/; =73 ~4)4/;q~4)4/;
a2 g 2% g

A—4 A—4 -4 -4
024r4024r4°24<r4024<r4

SRB recessed ballast

il

(1] SUPPORT
WIRE*

CEILING
GRID CLIP
(by others)

diameter\ /‘\
v

S

CANOPY
.

BACK PLATE
3.125"
o

% Support wire or chain,
as required by code

LAMP CORD

GRIPPER

m)dﬂq—jldﬂq—jldﬂq‘:ﬁldﬂq"A ]
4B B By T

1R 9 NRA 9 NRA s 9N 9 R
L

o o
R
Canopy
| ‘s

Cable gripper

(5 Box cover knobﬁ

g/, H Ballast
Lamp cord\

Ballast box [

Bar hanger

g VL P L g L et VLt YL YL Dt XL Dt L Pt AL Pt L et VL A
B a8 nat nqb gt o nqd nqd nqd nqd hqb oqd oqi

2% 5o e e N e e e e I e e e I e Y
’?r Vlfr Vl(r Vl(r "te "t% ‘>Zer VZer °Z<r °Z<r °Z<r W(r‘

T T T
5250 520% 512% 512% 539
2’7 O U o R o O

OCT 2008



SWING/STICK

Off T-bar Pendant Suspension

Installation ou de montage

Must order option SRB (e.g., ST44128.SRB)
WARNING: disconnect main power at the source prior fo installation!
Only qualified electricians should install Delray Lighting products.

Swing and Stick may be mounted off a T-bar grid with additional
support such as ceiling mounted rods or T-grid box hangers

(by others), using a 1/4-20 stud. Both feed end and non-feed end will
mount to the same 1/4-20 stud hardware. (See previous page for grid
mounting in a T-bar ceiling.)

© For mounting feed or non-feed. Position 1/4-20 studs from
ceiling or T-Grid box hanger (by others), to match fixture cable
spacing. Attach cable gripper for non-feed end to stud. Be sure to allow
no more than 5/16” of stud into gripper body

® On feed end, attach canopy back plate to 1/4—20 stud with hex nut.
Make hole in ceiling and attach conduit from ballast box to back plate
with lock nuts.

© Pass lamp cord through canopy and conduit. Attach canopy to 1/4-20
stud with cable gripper. Stud should not extend into gripper more than

5/16”, or adjustability will be lost.

O Twist off end of gripper and insert AC cable, pass cable through
gripp p g
gripper body and out side exit hole. Screw gripper into place.
Adjust length and snip off excess, leaving 1” of cable out of exit hole.

© Mount ballast box to Tee bar with bar hangers and attach with wire or
after market Tee bar clips. Pull knob to remove box cover, adjust cord
length, cut and strip ends for insertion into ballast.

canopy

' diameter

SRB recessed ballast /g

N

T

% Support wire or chain,
as required by code

Additional Ceiling
Support Wires*

(2}
1/420r0d —— B from ballast
(supported by others) £ box o
T L e T
4 > g > 4 > q4 DY
°l4<rv4 °l4€rv4 °l4<rv4 °l4<} AR Canopy
RS NE SRS K RN IR INE Y =

Cut hole in tile
for conduit
Canopy back
plate !
|
[ - L Locknuts
Hex nut ~ [

Cable end —

RSN P VL PN P
11><“<11>“<1x><“ l>“<1x><
ol A GTIpPER Body s 2

AL 9

= J
zbe R e
4 I

IV LHRRRUTTALY

Gripper end

o o o =
> 4 > 4 > 4 > RS =
- = = = 2
RAr 9 RA'r 9 NRA s 9 R4 s 9 R

Cable gripper

Caddy #512HD
T-Grid Box Hanger

(by others)

1/4 -20Threaded rod

(by others)

| an

(5] T
Box cover knob/

Lamp cord

W

\

Bar hanger §SS§§§

H Ballast

Ballast box

™ /)

s N
seodll sente win e oy
90 7o ' o U

OCT 2008



